











—— o mm m m m Em Em o Em Em Em o Em o Em o Em o Em o Em o Em Em Em o Em Em Em o Em Em Em o Em Em Em




31 37
50 < >
32 38 95 /km
39
34 50 < >
37
38
39
42 45
150 < >
43
45 47
48
1,000km 43
80 /km
100km 28
S51 2
49
250 < >
200 < >
250 < >

47

47

47

48

48



51
2,000km

55
100km

57
3,000km

50

54

55

56

57

59

13.0 /km+100

16.6 /km+100

35 /km<
420 /km<

400 <

400 <
250 <

>+
>+125

>

19.6 /km+100

350 <

>

53

53

56

56

58

58

58




60
21.7 /km+100

4,000km
400 <
200km
62

600 <

450 < >




5,000km

200km

6,000km

23.0 /km+150

30

S62 3
700 < >
500 < >

600 < >

400 < >
500 < >
40

H4 6

246 /km+150

oETC

o @




10

11

13 ETC

14

7,000km

10
400 <

39 /km<
351 /km<

11
700 <
500 <

H11 1

14

600 <

15
28.08 /km<
252,72  /km<

>

>+
>+125
5 2

45

>+90

12

12

12

ETC

14






1589 / 106 / 15.0 1,483 /
1900 / 452 / 42 1,448 /
1500 / 60 / 250 1,440 /
940 / 131 / 7.2 809 /
1000 / 227 / 4.4 773 /
591 / 21 / oo 612 /
650 / 63 / 10.4 588 /
450 / 62 / 7.2 388 /
520 / 201 / 2.6 319 /
217 / 14 / 15.8 203 /
330 / 138 / 24 192 /
220 / 30 / 74 190 /
140 / 8 / 16.9 132 /
122 / 11 / 115 111 /
100 / 28 / 3.6 72 /
60 / 48 / oo 108 /
69 / 9 / 7.3 60 /
81 / 41 / 2.0 40 /
185 / 146 / 13 39 /
35 / 12 / 3.0 24 /
1 / 1




20

OH14 H16 —
@ H17

1]

14.3

(6:00 22:00) (22:00 6:00)

H14 H16 H17

60:00

50:00

40.00

30:00

20:00

10:00

0:00

OH14 H16 —
B H17

(6:00 22:00)(22:00 6:00)

190 ...

19 7%
51 58
19 10 10
L a—s R
1,000 ——=—H18 : r
o] AN
1
600 i
400 M_n_-_“}:‘_‘
202 I 504 8
78911111111 112222012345€%86
0123456789012 3
14’000 17l 12 15
12,493
12,000 #—ﬂi 3is 18
10000 g %
62.24 65.74 LRe: 4 H B
8,000 17,768 8,361 :1 1 E
6,000 e o ¥l
I SE D
L Bvlas I". T
W0 a7y o |33 AlRCE £ iét "
¥ ..-I'_ !‘
2,000 4725 4372 e
4 19 '
H16 H18 et




3110141 ] ,’/
Gt J 6hy/ 7 /6 /
12,000 /
9,988 10,164 1,500
10000 [~ p—— [T
6 6
8000 r——~° T o e 1,200
580 | 5795 5613 | 552
6000 [~ - S EEEE
900
4000 [~ 4
420 448
2000 |- 4193 |---- @ - 4L o 600
300
-
0
4 s 0123 456 7 89 101112131415 1617 181920 21 2 2
BEE | Jowes i
& |\. . .
-~
Hlaihh
26.0 22.8
28.0 7 27.0
30 25 20 15 10 5 0 0 5 10 15 20 25 30



(OO\

H16.10.13 ‘

H17.10.12

mmmmmmmmmmmmmm
aaaaaaaaaaa

/1

73

ife

I S

E}] Sa

35

30

25

20

15

10

mmmmmmm
NNNNN

km/

28.6

~
_/
- IC IC
! ]
1,000 J [ J J
800 __J
600| [ \-77-/;’:/\\\
\ N
400
% “
‘ —— H16 10.1j k’%.‘ |
200 |- H17.10.12% ~ . -—
0
~ © o o - o~ (321 < wn w0 ~ [ce] (=] o — o~ ™ < — o o < wn =]

312

H16.10.13

H17.10.12

HHHHHHHHHHHHHHH

0%

10%  20%

30% 40% 50% 60%  70% 80%  90%  100%



R

(----_--------------.—n-— -..-..-_-____________..-____________*

i

m

o 11

I
I

Q

. )

8,000

7000 [
6,000 [
5000 [
4000 [
3000 [
2,000 [
1000

16.12 o

“

1,818 [ 1877

53375479 [ 5558

ﬂ ETC

600

400

100

o

\

500 1

300 |

200 1

(m)

(H1612) O

(H172) O (H18.1) ‘

| 350m
Al

200m =

150m150m 150m

o oom
50m
8

—




8h

51

0 1 2 3 45 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

H16

H17

46.7% 821

80%  90%  100%

| 51 CO; |
CO2
51
(kg-CO2/8h)
15000
13,260 11,956
10000
5000 -
0 L
H16 H17

Co2

H16 H17 9




00O

1,500

246

/6 /

1,200
900
600 ||

300 ;

——HI7

2
[ 8h 246
C hy
o 246 O |
H16 38.1% 1‘3-127‘ | 61.9% 2‘9.411‘
oy [m—— 1?.140‘ 2 S o 20380
! !

012 3 45 6 7 8 9 10111213 14 15 16 17 18 19 20 21 22 23

% 70% 80% 90% 100%
¢ h/
[=) 246 O
\ ‘ \ \
H16 27.4% 4,865 72.6% 10,990
H17 | 24.4% 4477 75.6% 11,808 |
\ \
0% 1 0% 80% 90% 100%
| 246 CO; ]
CO2
€02 246 /
(kg-CO2/8h)
U
80000 F
79,898
60000 74,478
40000 F
20000
H16 H17

Cco2 H16 H17 6




140

10|

100

(l

60

0y

i

11§

08

06 |

04

02 |

091

[BAt F]

220

210 [

200

190

EEH FEIRELCO2ELE
£M4305 £M§1,10075
rv LU

Rk (13%)

Pl 1

SRR G

1997




